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SECTION A (100 marks)
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1. 10101, is not equal to '?'—“4 . : e
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gf 2. If p:4 = 3iq, then ;g o - o 2 _
Cf @ =4 ® 4p = 4q © 4p = 4q @ pq = 12
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4 ﬁ&—‘nd-mmmmmmmvu. In a sale this [7_"()
iy peice = marked down 207 The marked price is
- Jibm than the cost price (b) equal to the cost price
(<) less than the cost price (d) 40% of the cost price
6. 00146 expressed in the form a X 10" where 1 <a < 10 is
| B I/ @ 0146 x 107 (b) 146 X 1072
(¥ 146 X 107 (d) 146 X 10 S
7 A bus, 10 m in length and travelling due North at 10 m/s, begins to pass out an \
identical stationary bus also facing due North. The minimum, complete, passing-out { Y
time in seconds is vt S
= @) 05 (b) 1 (@2 (@) 10 ff |
\ ]
8 If # P=6and # Q = 13 where Pand Q are sets, then # (P U Q) cannot be L—//
i 4 /(a) 10 (b) 13 (c) 16 @) 19
4 9. : If logw2 = x, then log2 10 is
| (a) Sx (b) 10x ©4 @) 2=
10.  The factors of p? + q? are '
D1/ @ @+ b)a + ») , (®) @ + b)a - b) 5 4
(€} @ - b)a - b) X i '57 (d) none of these. C)LWJ
1. (3 -p3) + x ~-y) = '8 Y g SC -j)t_)‘
&l @ x? +xy + »? () x2 — xy + 32 ‘QQW
2 + 2 d y (IS ) + 2
(c) x y (d) x Xy + y 1 :L)f_“-f'z
12 If x « y = 2¢ - y2 then (1.+ 2) » 3 equals 7 J
¥ (a) -23 (b) -13 (c) -3 ) -2
I r =9
: Lo, DA
3 13. € roots of the equation 3 . A g 0 are '
bl/@ 0, 2 ®) {-1, 2} © {1, -2} @ {-1, -2)
' -5 (%85 o
14, To make a perfect square of x?2 — 6x + 2 }
(a) add 7 (b) subtract 7 (c) add 5x (d) add 4 a b
‘ 15. The relation R = {(q, b), (a, ¢). (c, ¢), (b, a), (c, a)}is
(a) reflexive (b) symmetric (c) transitive (d) none of
She' < these
« 16. /K; the function X.%3% 4 2% Then f', ie. the inverse function, is x =
Ye-i
BY @2+« (b) £32 (©) x - 2 ! @ =3
o/
17.  The nth term of a sequence is n—’i—z . The next term is
n_+ n + n n 4
@4, ) -4 Cha Chrs vediin,
18.  The solution of the inequality (x - 3)(x + 2) > 0 is
| 3 @-2<x<3 ) -3 < x < 2 . , )
| — . S/
(cfyx <-2and x > 3 (d) x >3 and x > -2 : f
B ¥y -= 1772k, then r is equal to
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200 Iff:x — 1-xand fg: x — x — 1, where fg is the composite function, then
g:x —

@ x — 2 (b) 1 — 2x (c) —=x d) 2 —x
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1. (a) Using Tables, P.20 - P.27, or otherwnse evaluate as accurately as the tables allow

4‘ ' = \/—_ = 1 , where

= 4256, ¢ = 0-327, r = 0-4528.

(b) A book of raffle tickets sells for IR£1-20. The prizes in IR£ are 100, 85, 70, S5

and 40. If printing costs amount to IR£84, calculate the least number of books
{ which must be sold
\ (i) to cover costs

~—— (i) to make a profit of IR£1000.

_ ——— g (-LO
i 2. (a) Write down the factors of
N 6x2 — 1lx — 10 L
N i I
] (47
l[/(_ < and, hence or otherwise, solve ¥ ol !
5 (i) 6x2 — 1lx — 10 = 0
F 6l Gi) 6( — 1)* — 11¢t — 1) — 10 = 0.
_;l ‘;5 (b) Solve 2x2 — 3x — 7 = 0 and give your answers correct to two places of decimals.
© o
r‘u (c) Simplify (» + q)* — (p — q)® and show that 3p? + g? is one of its factors.
T 3op -]
i H43 v 3. The function f is defined on R, such that, f: x — g% =
Find the value of (i) f(2), (n) ﬂi—) and calculate k € N such that f(2) kﬂ{)
Investigate if =5
o 1 k e } 'g
g is another function deﬁned on R such th grx T ¥ 0] e
Investigate if Ik B 3[: 10
" © (i) g(x + 3) = glx) + g(3) :
4 Q’ *}a) 4l = L .tl £iypsfg(x) = gf(x), where these are compgsite functx%r:s
| S
| x +| ;(747'%() Z X Q Y
: 4. Draw the graph of the function W . /M
fix =>2<3x-—x?
in the domain -5 < x < 2, x € R.
Using the graph, estimate 55
.3 4 (i) the values of x for which fix) = ¥ =7 v ¢
(ii) the range of values of x for which f(x)’< 0-#
(iii) the values of x for which 5 - 3x - x2 = 0 9
L} (iv) the maximum value of fix) <
(v) the value of k for which fik + x) = fik — x) for x € R.
a) A train journey of 825 km was completed at a steady speed. Had the speed been ;
reduced by 10 km/hour, the time for the journey would have been 45 minutes greater.
Calculate the steady speed.
=' (b) If A AB = {1,5), where A = {x, 2,8, 9}, B = {2, 5, 8 y), write out the
!
! value of (i) x (ii) y.
! H ~ Hence write out the elements of the set C if
\‘-. & AABACS=
k\“ 12
¢




6. (a) Solve x?u='25 ~ y?
x =7-y.
(b) Justify log;pq = log,p + log,q.

If log,,2 = a and log, 3 = b, express in terms of a and b
() log, 12 (ii) log, 6% (iii) Iog126-§.

7. The fares paid by bus passengers in ?ne day are shown in the following frequency
distribution:
59 *0 L0
Fares in 10,, 15 20 25

o » ]D P 30¢7 35/) 40f

Number of 20 30 20 40 10 10 20
passengers
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(a) Construct a pie-chart showing the comparison between the number of fares
(i) of 15p or less \(20
(ii) of 35p or more «

(iii) other than (i) and (ii). @

(b) Calculate the mean fare per passenger.

(c) By how much should the modal fare be raised to give a mean fare on the day
of 23-6p ?



